
PARTS LIST

DESCRIPTIONPART NUMBERQTYITEM

JD 6R 2015 Undertruss10-120811

JD 6215R Side Plate LH10-1524L12

JD 6215R Side Plate RH10-1524R13

5 x 7 5ft Tube Straight LH10-1031L14

5 x 7 5ft Tube Straight RH10-1031R15

Saddle Conv. 10-180026

300 Saddle, Green10-101127

Step Handle 30-190218

Step bottom Bracket30-190319

1

1

2

2

A A

B B

Front of tractor.

RH side plate shown.

Side Mount

John Deere

6155R, 6175R,

6195R, 6215R

Bolt List

QTY Description

Placement

4

3/4 x 2 1/2 Bolts

Undertruss to Tractor Side Plates

20

3/4 x 2 1/2  Bolts

Tubes to Tractor Plates

12

3/4 x 2 1/2 Bolts

Saddle Conversion to Saddle

4

3/4 x 7 x 9 U-Bolts

Saddle Conversion to Tube

7 20mm x 60mm x 10.9 Bolts Side Plate to Tractor Frame Left Side

7 20mm x 75mm x 10.9 Bolts

Side Plate to Tractor Frame Right Side

44

3/4 Lockwashers

44

3/4 Nuts

28

20mm Hardened 

Flatwashers

Front & Back Side of Tractor Frame

14 20mm Hex Nut

2 3M Non-Skid Pads On Tubes

4

Nylon Strap Assembly

*Limited to 300gal on each side.*

Price List
300 gal w/Tanks $6798.00

Limitations may apply.  Please consult 
API Sales at 800-288-1117.

300 ID:  JD-6R-15CU-SMS-300R




